Last One Standing A ACCESS MATHS E

This is a game for two players. The first player chooses a positive
even number that is less than 50, and crosses it out on the grid.
The second player chooses a number to cross out. The humber must
be a factor or multiple of the first number.

Players continue to take it in turns to cross out numbers, at each
stage choosing a number that is a factor or multiple of the number
just crossed out by the other player.

1 2 3 4 5 6

11 12 13 14 15 16

21 22 23 24 25 26

31 32 33 34 35 36

41 | 42 | 43 | 44 | 45 | 46

51 92 53 54 55 56

61 62 63 64 65 66

71 72 73 74 75 76

81 82 83 84 85 86

91 92 93 94 95 96

Key Questions:

Do you have any winning strategies?
Are there any numbers you shouldn't go t0?

2% Challenge: Can you work in pairs to try and find the longest
seguence of numbers possible? Colour the squares in over
the top of your crosses. Can more than half be crossed out?




